=g S

=t E = Al =t E = Al
BdusAME=Y 81,200,000 =0 368,658,000
IIEXNEANE =L 80,000 Ni==& 69,515,000
zg%gd‘g%:g“gz‘\_ 120,000 E2= & EANES 37,815,000
Ag == Ag == 81,400,000 AN E2ERES 43,893,000
NEEXS 697,000,000 JIEt= dHH| 19,010,000
ENSEs EXxz+Y 697,000,000 AHSHI el2id| 538,891,000
NE=3= 0 Jl2=2EH 1,440,000
HANEZ=23= 500,000 3oyl 3,040,000
ral=Radsy sE83+g 500,000 AHSHI g2 =2 4,480,000
o= 5,000,000 048] 1,150,000
dY=3 dY=3 5,000,000 =8 € =2 20,656,845
dEE0IES 950,000 33R2= 19,100,000
HEZ0IES(ZR3) 50,000 NS t= 8,560,000
=1, =1, 1,000,000 =gl 3,600,000
=ESMH2H 100,000 JIEt=2 16,736,000
JIEHOI = O Kb ==& 100,000 AHRHI 24 69,802,845
et =2 100,000 NE=1sl 5,000,000
g g 300,000 et =4 22,000,000
< MEA S>> 785,200,000 INF=E=1=IE=ONL:]! 5,000,000
& A | NE=1sl 32,000,000
& E AL 1,300,000
= A 125,600,000
JFE X3 AL HI 5,400,000
22l Al 7,600,000
At I At I 139,900,000
ol Byl 26,1565
grat= 100,000
ollBlgl & JIEt oilBIgl & JIEt 126,155
LK HMEA > 785,200,000




